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%HEs o alaz2 19/7) 390,000 0 390,000
=R o WERNE= 19/7) 550,000 0 550,000
20s *o Uelaa 19/7) 190,000 0 190,000
2N o Uelaa 19/7H 310,000 0 310,000
A *ox alaz2 19/7H 200,000 0 200,000
2 SEH *o alaz2 19/7H 260,000 0 260,000
N ok alaz2 18/74 170,000 0 170,000
NPIE= o alaz2 19/7) 450,000 0 450,000
el o sl aa 19/7) 1,000,000 0 1,000,000
PSS o WERNE= 19/74 1,250,000 0 1,250,000
=54 *o Hala2 19/7H 640,000 0 640,000
SN *ox Halaa 19/7H 720,000 0 720,000
HED o alaz2 19/7H 590,000 0 590,000
BT ok alaz2 18/74 1,060,000 0 1,060,000
=2 *o alaz2 198/74 1,130,000 0 1,130,000
CIPA o sl aa 19/7) 190,000 0 190,000




SN ** Halat= 14/74 800,000 0 800,000
ZA3s *k Halat= 14/74 190,000 0 190,000
U2 *k tHalat= 14/7H 4,130,000 0 4,130,000
orEs *k tHalat= 19/74 740,000 0 740,000
AEX *k Halat= 1/74 160,000 0 160,000
ZI W< *k tHalat= 1/7H 870,000 0 870,000
A *% talat= 14/74 340,000 0 340,000
Sz ** Halat= 14/74 190,000 0 190,000
g9s4 *k Halat= 14/74 600,000 0 600,000
OlEg= *% tHalat= 14/74 800,000 0 800,000
2ol & *k tHalat= 19/74 200,000 0 200,000
NE= *k Halat= 1/74 3,500,000 0 3,500,000
e *% tHal &= 1/7H 1,000,000 0 1,000,000
JEN ] *% tHal &= 14/74 510,000 0 510,000
SETH *% Halat= 14/74 390,000 0 390,000
B3I *k Halat= 14/74 300,000 0 300,000
ZHE *k tHalat= 14/7H 3,020,000 0 3,020,000
ZEH *k tHalat= 19/74 360,000 0 360,000
g *k Halat= 1/74 440,000 0 440,000
Ol=4d *k tHalat= 1/7H 270,000 0 270,000
g2y *k talat= 1/74 270,000 0 270,000
gt *% Halat= 14/74 300,000 0 300,000
olst= *k Halat= 14/74 900,000 0 900,000

*k tHalat= 14/74 1,500,000 0 1,500,000

*k tHalat= 19/74 190,000 0 190,000

*% Halat= 1/74 500,000 0 500,000
el *k talat= 1/7H 1,780,000 0 1,780,000
ERNES *% tHal &= 1/74 720,000 0 720,000
orzgl *% tHal &= 19/74 320,000 0 320,000
[PNES *k Halat= 14/74 310,000 0 310,000
olsgt *k tHalat= 14/74 610,000 0 610,000
ZJAE *k tHalat= 19/74 450,000 0 450,000
HE9 *k Halat= 1/7H 360,000 0 360,000
gr& 0l *k talat= 1/7H 130,000 0 130,000
Olgdg *k talat= 1/74 290,000 0 290,000
Z2EA *% Halat= 14/74 300,000 0 300,000
&0t *k Halat= 14/74 270,000 0 270,000
=8l *k tHalat= 14/7H 880,000 0 880,000
e *k tHalats 19/74 430,000 0 430,000
SEA *k Halat= 1/7H 310,000 0 310,000
LER *k talat= 1/7H 450,000 0 450,000
sts& *x tHal &= 14/7H 400,000 0 400,000
z &S *x tHal &= 14/74 550,000 0 550,000
dF3 *k tHal &= 14/74 1,140,000 0 1,140,000
= ONE=] *k tHalat= 14/74 490,000 0 490,000
2 *k tHalats 19/74 1,790,000 0 1,790,000
==d *k Halat= 1/74 440,000 0 440,000
ZH= *k talat= 1/7H 1,760,000 0 1,760,000




& ** Halat= 14/74 310,000 0 310,000
¥sA *k Halat= 14/74 500,000 0 500,000
=4 *k tHalat= 14/7H 900,000 0 900,000
SV *k tHalat= 19/74 400,000 0 400,000
s *k Halat= 1/74 200,000 0 200,000
grets *k tHalat= 1/7H 600,000 0 600,000
EEREs *k talat= 1/74 260,000 0 260,000
ol *k Halat= 19/74 200,000 0 200,000
AIEH0l *k Halat= 14/74 1,650,000 0 1,650,000
&2 *x tHalat= 14/74 500,000 0 500,000
NS *k tHalat= 19/74 300,000 0 300,000
dsd *k Halat= 1/74 500,000 0 500,000
S PNE= *% tHal &= 1/7H 100,000 0 100,000
a=2d *x tHal &= 14/74 150,000 0 150,000
S&E *k Halat= 1/74 200,000 0 200,000
a=g *k Halat= 14/74 2,200,000 0 2,200,000
PN = *k tHalat= 14/7H 750,000 0 750,000
ZHE *k tHalat= 19/74 540,000 0 540,000
BRd *k talat= 1/74 1,170,000 0 1,170,000
Zad *k tHalat= 1/7H 300,000 0 300,000
ZalE *k talat= 1/74 2,900,000 0 2,900,000
X Q157 *% Halat= 14/74 140,000 0 140,000
Z NS *k Halat= 14/74 1,250,000 0 1,250,000
Fd=2 *k tHalat= 14/74 2,040,000 0 2,040,000
s *k tHalat= 19/74 140,000 0 140,000
ZEot *k Halat= 1/74 350,000 0 350,000
& *k talat= 1/7H 460,000 0 460,000
22 *% tHal &= 14/74 110,000 0 110,000
SR *% tHal &= 14/74 1,150,000 0 1,150,000
gtEst *k Halat= 14/74 2,680,000 0 2,680,000
HH Xl = *k tHalat= 14/74 310,000 0 310,000
A *k tHalat= 19/74 200,000 0 200,000
ordgl *k Halat= 1/7H 1,000,000 0 1,000,000
SR *k talat= 1/7H 500,000 0 500,000
dt *k talat= 1/74 200,000 0 200,000
& *% Halat= 14/74 100,000 0 100,000
ESfelp) *k Halat= 14/74 460,000 0 460,000
LEHE *k tHalat= 14/7H 320,000 0 320,000
dE= *k tHalats 19/74 300,000 0 300,000
Eatol *k Halat= 1/7H 350,000 0 350,000
BrS *k talat= 1/7H 160,000 0 160,000
SE= *% tHal &= 14/7H 570,000 0 570,000
HEA *% tHal &= 19/74 420,000 0 420,000
saE *k Halatz 14/74 770,000 0 770,000
EERSES *k tHalat= 14/74 130,000 0 130,000
FSFakel *k tHalats 19/74 360,000 0 360,000
ot *k Halat= 1/74 880,000 0 880,000
orgel *k talat= 1/7H 130,000 0 130,000




NE o el aa 19/7) 130,000 0 130,000
48 *ox alaz2 19/7H 600,000 0 600,000
U=S ok alaz 19/7H 1,060,000 0 1,060,000
el *ox alaz2 19/74 2,880,000 0 2,880,000
A Al o WERNE= 19/74 200,000 0 200,000
A8E o sl a2 19/7) 480,000 0 480,000
ER& *o el aa 19/7) 1,440,000 0 1,440,000
5= o el aa 19/7) 310,000 0 310,000
2 Lo *o alaz2 19/7H 2,920,000 0 2,920,000
22 o RN, 19/7H 300,000 0 300,000
Bt 5| o4 *ox alaz2 19/74 200,000 0 200,000
P o sl a2 19/74 400,000 0 400,000
014 o ala2 19/7) 700,000 0 700,000
g *o ala2 19/7) 700,000 0 700,000
243} o el aa 19/7) 1,000,000 0 1,000,000
olg=(28) *x sl a3 1%/7h 310,000 0 310,000
FSPUES: o alaz2 19/7H 108,000 0 108,000
S ok alaz2 19/74 99,000 0 99,000
SPAE o sl a2 19/74 890,000 0 890,000
A1 5| El ok WERN= 19/7) 650,000 0 650,000
OHIH & *o Uelaa 19/7) 150,000 0 150,000
NES ok e aa 19/74 1,220,000 0 1,220,000
EHEY *o alaz2 19/7H 2,000,000 0 2,000,000
ol o alaz2 19/ 2,150,000 0 2,150,000
= *ox alaz2 19/74 2,000,000 0 2,000,000
BHOI 4 o alaz2 19/74 3,250,000 0 3,250,000
[0 *o sl aa 19/7) 1,250,000 0 1,250,000
HER o el aa 19/74 200,000 0 200,000
KB o Hala2 19/7H 300,000 0 300,000
ESPVESS *ox alaz2 19/7H 1,300,000 0 1,300,000
EE A *o alaz2 19/ 150,000 0 150,000
SHel ok alaz2 198/74 511,200 0 511,200
28l o alaz2 19/7) 130,000 0 130,000
o1&l o WERNE= 19/7) 1,011,506 0 1,011,506
A8 *o Uelaa 19/7) 500,000 0 500,000
Hsl@ o Uelaa 19/7H 300,000 0 300,000
=DJ= *ox alaz2 19/7H 620,000 0 620,000
%D o alaz2 19/7H 300,000 0 300,000
Nes ok alaz2 18/74 150,000 0 150,000
BEE o alaz2 19/7) 380,000 0 380,000
Ol & &t Ho sl aa 19/7) 1,100,000 0 1,100,000
el o ala2 19/7) 350,000 0 350,000
2 TH e o Hala2 19/7H 588,000 0 588,000
BHD| 2 *ox el aa 19/7H 150,000 0 150,000
BroIE *o alaz2 19/7H 1,750,000 0 1,750,000
SLE ok alaz2 18/74 1,350,000 0 1,350,000
olglE *o alaz2 19/7) 180,000 0 180,000
As=x o sl aa 19/7) 1,150,000 0 1,150,000




SPnge: o Oala=2 19/7M 100,000 0 100,000
S ok sl a3 19/7M 200,000 0 200,000
20 *ox sla3 19/74 300,000 0 300,000
&=FY *x Uslaz 13/74 400,000 0 400,000
OlRal *ox oslaza 1%/74 1,460,000 0 1,460,000
gtote *ox talaz2 1/7M 630,000 0 630,000
gx *ox tala2 19/70 2,300,000 0 2,300,000
== o Oala=2 19/7M 500,000 0 500,000
ds2 ok sl a3 19/7M 1,090,000 0 1,090,000
sS4 o tsla2 19/7M 1,760,000 0 1,760,000
20i= ** CHalat= 19/74 770,000 0 770,000
EAE ok oslaza 1%/7H 250,000 0 250,000
01 < o alaz 1/7M 1,650,000 0 1,650,000
PN o alaz 19/7M 350,000 0 350,000
259 *x tala=2 19/74 2,490,000 0 2,490,000
2 5t ok sl a3 1/7M 150,000 0 150,000
ols *x sla3 19/7M 500,000 0 500,000
2oy o Uslaz 13/74 300,000 0 300,000
45 *ox oslaa 1%/7H 200,000 0 200,000
=@ *ox talaz2 1/7M 400,000 0 400,000
AUsH o tala2 19/70 320,000 0 320,000
greg o tala2 1/7M 300,000 0 300,000
OlFTH ok sl a3 1/7M 3,030,000 0 3,030,000
Ole & ok sl a3 19/7M 750,000 0 750,000
x| F3] o Uslaz 13/7H 1,330,000 0 1,330,000
Zsyl ok alaz 13/74 1,090,000 0 1,090,000
ol=¢g o tslaza 19/7M 2,790,000 0 2,790,000
2EA o alaz 19/7M 350,000 0 350,000
IES Hox oala=2 19/74 1,280,000 0 1,280,000
270l ok sl a3 1/7M 4,860,000 0 4,860,000
2 *x sl a3 19/7M 9,500,000 0 9,500,000
32D *ox Uslaz3 13/74 2,500,000 0 2,500,000
o151 & ok k=P = 13/74 70,000 0 70,000
SEY *ox tslaza 19/7M 180,000 0 180,000
A& o tala2 1/7M 150,000 0 150,000
Sl o tala2 1/7M 1,450,000 0 1,450,000
A8 E ok sl a3 19/7M 750,000 0 750,000
x4 *x sl a3 19/7M 8,520,000 0 8,520,000
2HE o Uslaz3 13/74 744,000 0 744,000
ds2 ok alaz 13/74 1,200,000 0 1,200,000
2T *ox tslaza 19/7M 1,950,000 0 1,950,000
HEE o talaz2 19/70 2,100,000 0 2,100,000
Hatal o tala2 19/74 230,000 0 230,000
dsH ok tala=2 19/7M 450,000 0 450,000
g40l ok sl a3 19/7M 250,000 0 250,000
&=FY *ox Uslaz3 13/74 110,000 0 110,000
QEY * Ualaz 13/74 1,150,000 0 1,150,000
EEM *ox tslaza 19/7M 300,000 0 300,000




Z| Q== *% Halat= 14/74 1,110,000 0 1,110,000
ghate *k Halat= 14/74 600,000 0 600,000
&E=5 *k tHalat= 14/7H 1,200,000 0 1,200,000
BAIR *% talat= 18/7H 400,000 0 400,000
ol *k Halat= 1/74 1,400,000 0 1,400,000
Se2 *k tHalat= 1/7H 2,670,000 0 2,670,000
=== *% talat= 14/74 550,000 0 550,000
Olatgl ** Halat= 14/74 1,990,000 0 1,990,000
NEZ *k Halat= 14/74 800,000 0 800,000
ot&lS *x tHalat= 14/74 15,730,000 0 15,730,000
Al *k tHalat= 19/74 250,000 0 250,000
Fals *k Halat= 1/74 200,000 0 200,000
dEE *x talat= 1/7H 230,000 0 230,000
= *x tHal &= 1/74 2,800,000 0 2,800,000
e *% Halat= 14/74 3,160,000 0 3,160,000
PR *k Halat= 14/74 870,000 0 870,000
ENEE] *k tHalat= 14/7H 350,000 0 350,000
g4 *k tHalat= 19/74 1,400,000 0 1,400,000
=E-Tall *k Halat= 1/74 1,000,000 0 1,000,000
23t *k tHalat= 1/7H 250,000 0 250,000
U= *x talat= 14/74 180,000 0 180,000
=) *% Halat= 14/74 1,100,000 0 1,100,000
HEH *k Halat= 14/74 300,000 0 300,000
ZE = *k tHalat= 14/74 620,000 0 620,000
ZE *k tHalat= 19/74 390,000 0 390,000
B3 *k Halat= 1/74 5,250,000 0 5,250,000
o2+ *k talat= 1/7H 2,000,000 0 2,000,000
dIE *x tHal &= 1/74 260,000 0 260,000
HES *% tHal &= 14/74 1,470,000 0 1,470,000
=S4 *k Halat= 14/74 150,000 0 150,000
ESa *k tHalat= 14/74 290,000 0 290,000
Ze=E *k tHalat= 19/74 2,150,000 0 2,150,000
43 *k Halat= 1/7H 500,000 0 500,000
ZotE *k talat= 1/7H 570,000 0 570,000
dsd *x talat= 1/7H 340,000 0 340,000
Bt E *% Halat= 14/74 150,000 0 150,000
dEE *k Halat= 14/74 250,000 0 250,000
=4 *k tHalat= 14/7H 300,000 0 300,000
ESVIRN *k tHalats 19/74 2,240,000 0 2,240,000
Rk *k Halat= 1/7H 400,000 0 400,000
0= *k talat= 1/7H 900,000 0 900,000
gdd *x tHal &= 1/74 2,590,000 0 2,590,000
Ol *% tHal &= 14/74 100,000 0 100,000
gl *k Halatz 14/74 700,000 0 700,000
Ha=& *k tHalat= 14/74 100,000 0 100,000
lFSEs *k tHalats 19/74 800,000 0 800,000
nHEE *k Halat= 1/74 440,000 0 440,000
s *k talat= 1/7H 200,000 0 200,000




Slgsp o el aa 19/7) 100,000 0 100,000
E=! *ox alaz2 19/7H 150,000 0 150,000
THeh ok alaz 19/7H 150,000 0 150,000
gtol *ox alaz2 19/74 190,000 0 190,000
28 o WERNE= 19/74 10,000 0 10,000
259 o sl a2 19/7) 1,190,000 0 1,190,000
Sla=Lal *o el aa 19/7) 400,000 0 400,000
SlgsIES o el aa 19/7) 540,000 0 540,000
FSOALE *o alaz2 19/7H 250,000 0 250,000
2cd o RN, 19/7H 9,550,000 0 9,550,000
SIPNE ok alaz2 19/74 570,000 0 570,000
SIS o sl a2 19/7) 130,000 0 130,000
eage: 4o o ala2 19/7) 60,000 0 60,000
e = *o ala2 19/7) 410,000 0 410,000
01&H o el aa 19/7) 1,000,000 0 1,000,000
PUES *ox alaz2 19/ 400,000 0 400,000
a2 o alaz2 19/7H 3,000,000 0 3,000,000
oS Ho alaz2 19/74 450,000 0 450,000
XA o sl a2 19/74 850,000 0 850,000
)=ES ok WERN= 19/7) 4,075,000 0 4,075,000
o1g = *o Uelaa 19/7) 355,000 0 355,000
FENGYUAMTHHO o e aa 19/7H 150,000 0 150,000
2| *o alaz2 19/7H 3,060,000 0 3,060,000
BHol *o alaz2 19/ 750,000 0 750,000
9 & *ox alaz2 19/74 740,000 0 740,000
BHENE *o alaz2 19/7) 400,000 0 400,000
LT o sl aa 19/7) 800,000 0 800,000
2= *o el aa 19/74 2,580,000 0 2,580,000
20118l *o Uelaa 19/74 15,230,000 0 15,230,000
HEA(7E) *x tala=z 19/74 7,080,000 0 7,080,000
)=p) *o alaz2 19/ 150,000 0 150,000
2ol ok alaz2 198/74 300,000 0 300,000
2ol o alaz2 19/7) 400,000 0 400,000
L= o WERNE= 19/7) 380,000 0 380,000
SH& 3 o Uelaa 19/74 2,000,000 0 2,000,000
QNE o Uelaa 19/7H 700,000 0 700,000
olgs *ox alaz2 19/7H 1,600,000 0 1,600,000
ATMS *o alaz2 19/7H 3,070,000 0 3,070,000
@ ok alaz2 18/74 500,000 0 500,000
A= o alaz2 19/7) 420,000 0 420,000
22 o sl aa 19/7) 300,000 0 300,000
S o WERNE= 19/74 200,000 0 200,000
olalls *o Hala2 19/7H 130,000 0 130,000
&3| M *ox el aa 19/7H 340,000 0 340,000
S o alaz2 19/7H 460,000 0 460,000
SRS ok alaz2 18/74 540,000 0 540,000
GRS *k tHalaaza 19/74 400,000 0 400,000
SIS Ho sl aa 19/7) 200,000 0 200,000




2 XIgt *% Halat= 14/74 150,000 0 150,000
fd2 *k Halat= 14/74 710,000 0 710,000
£ 24| *k tHalat= 14/7H 620,000 0 620,000
HaA *k tHalat= 19/74 520,000 0 520,000
228l *k talat= 1/7H 670,000 0 670,000
S EA *k tHalat= 1/7H 1,210,000 0 1,210,000
EAPNES] *% talat= 14/74 1,670,000 0 1,670,000
org& *% Halat= 14/74 3,508,000 0 3,508,000
dI = *k Halat= 14/74 130,000 0 130,000
Z=H| *% tHalat= 14/74 3,470,000 0 3,470,000
AL *k tHalat= 19/74 360,000 0 360,000
Sl *k talat= 1/7H 3,300,000 0 3,300,000
SNES *% tHal &= 1/7H 550,000 0 550,000
OlEE *% tHal &= 14/74 6,660,000 0 6,660,000
eSS ** Halat= 1/74 1,925,000 0 1,925,000
AF S *k Halat= 14/74 825,000 0 825,000
=2 *k tHalat= 14/7H 210,000 0 210,000
=4 *k tHalat= 19/74 110,000 0 110,000
e *k talat= 1/74 580,000 0 580,000
N[E=gll *k tHalat= 1/7H 100,000 0 100,000
EMS *x talat= 14/74 180,000 0 180,000
QI EH *k Halat= 19/74 250,000 0 250,000
ERSE, *k Halat= 14/74 450,000 0 450,000
otgrs *k tHalat= 14/74 550,000 0 550,000
g4z *k tHalat= 19/74 400,000 0 400,000
ol *x talat= 18/7H 280,000 0 280,000
OlcHE *k talat= 1/7H 500,000 0 500,000
A2EE *% tHal &= 14/74 150,000 0 150,000
2 Mg *% tHal &= 14/74 700,000 0 700,000
0121 *k Halat= 14/74 210,000 0 210,000
otat= *k tHalat= 14/74 220,000 0 220,000
FlGES] *k tHalat= 19/74 1,120,000 0 1,120,000
=gl *k Halat= 1/7H 500,000 0 500,000
orzgl *k talat= 1/7H 1,780,000 0 1,780,000
A=) *x talat= 1/7H 170,000 0 170,000
Hsd *% Halat= 14/74 50,000 0 50,000
da= *k Halat= 14/74 120,000 0 120,000
PSP RS *k tHalat= 14/7H 450,000 0 450,000
Stel o *k tHalats 19/74 590,000 0 590,000
o= *k Halat= 1/7H 700,000 0 700,000
gz *k talat= 1/7H 2,500,000 0 2,500,000
olol= *% tHal &= 14/7H 70,000 0 70,000
H st *% tHal &= 14/74 1,800,000 0 1,800,000
SEE *k Halatz 14/74 260,000 0 260,000
ZH=2 *k tHalat= 14/74 120,000 0 120,000
s S8l *k tHalats 19/74 3,370,000 0 3,370,000
EEEars! *k Halat= 1/74 240,000 0 240,000
OlXI2! *k talat= 1/7H 330,000 0 330,000




02 X *% Halat= 14/74 1,000,000 0 1,000,000
OP=g= *k Halat= 14/74 900,000 0 900,000
o= *k tHalat= 14/7H 100,000 0 100,000
Zolgl *% talat= 18/7H 100,000 0 100,000
NE=2= *k Halat= 1/74 370,000 0 370,000
2 ==0l *k tHalat= 1/7H 270,000 0 270,000
dsE *x talat= 14/74 380,000 0 380,000
&g *k Halat= 19/74 270,000 0 270,000
ErShe) *k Halat= 14/74 530,000 0 530,000
01&3l *% tHalat= 14/74 600,000 0 600,000
L= *k tHalat= 19/74 210,000 0 210,000
EX *k Halat= 1/74 1,550,000 0 1,550,000
== *x tHal &= 1/7H 400,000 0 400,000
RS *% tHal &= 1/74 4,290,000 0 4,290,000
k=is— *% Halat= 14/74 5,480,000 0 5,480,000
raa=ull *k Halat= 14/74 5,340,000 0 5,340,000
&8t *k tHalat= 14/7H 250,000 0 250,000
ZET *k tHalat= 19/74 450,000 0 450,000
zas *k talat= 1/74 640,000 0 640,000
Ol=¢ *k tHalat= 1/7H 270,000 0 270,000
S&0 *x talat= 14/74 510,000 0 510,000
gHalE *% Halat= 14/74 650,000 0 650,000
A& *k Halat= 14/74 350,000 0 350,000
Fab=R| *k tHalat= 14/74 160,000 0 160,000
oAe *k tHalat= 19/74 100,000 0 100,000
SHL *k Halat= 1/74 2,000,000 0 2,000,000
23= *k talat= 1/7H 700,000 0 700,000
& & *% tHal &= 1/74 2,060,000 0 2,060,000
Ms *% tHal &= 14/74 600,000 0 600,000
o *k Halat= 14/74 270,000 0 270,000
dEE *k tHalat= 14/74 440,000 0 440,000
shlg *k tHalat= 19/74 1,460,000 0 1,460,000
ags¥ *k Halat= 1/7H 1,820,000 0 1,820,000
ed2x *k talat= 1/7H 500,000 0 500,000
FSE=PN *% talat= 1/7H 180,000 0 180,000
dEE *k Halat= 19/74 200,000 0 200,000
A *k Halat= 14/74 570,000 0 570,000
XA *k tHalat= 14/7H 250,000 0 250,000
45 *k tHalats 19/74 250,000 0 250,000
=4y *k Halat= 1/7H 240,000 0 240,000
SrE 7 *k talat= 1/7H 1,130,000 0 1,130,000
Ol & *x tHal &= 14/7H 1,000,000 0 1,000,000
2 CHoll *% tHal &= 14/74 170,000 0 170,000
Rk *k Halatz 14/74 290,000 0 290,000
grZg *k tHalat= 14/74 260,000 0 260,000
S *k tHalats 19/74 330,000 0 330,000
72 *k Halat= 1/74 360,000 0 360,000
asH *k talat= 1/7H 400,000 0 400,000




PRS- o alaz 19/7M 2,890,000 0 2,890,000
A E o sl a2 19/74 930,000 0 930,000
Sl o sl a2 19/74 4,430,000 0 4,430,000
UM o sl a2 19/7H 630,000 0 630,000
IR ok alaz 1/7M 750,000 0 750,000
UFRAE o alaza 19/74 390,000 0 390,000
Eskel Ho alaz 19/74 970,000 0 970,000
35 *o alaz 19/74 1,000,000 0 1,000,000
62 o sl a2 19/74 620,000 0 620,000
253 o Halaz 198/74 1,000,000 0 1,000,000
Epsh=s o sl a2 19/7H 1,810,000 0 1,810,000
EApSES ok Ualaz 1/7M 200,000 0 200,000
SN *o alaz 19/74 250,000 0 250,000
8HCH3 Ho el aa 19/74 570,000 0 570,000
2017 Hox alaz 19/74 500,000 0 500,000
Ol &st o sl a2 19/74 850,000 0 850,000
A o sl a2 19/74 460,000 0 460,000
dEF o sl a2 19/7H 800,000 0 800,000
NPy *ox alaz 1/7M 230,000 0 230,000
ety o alaza 19/74 520,000 0 520,000
o1Zyl o alaz 19/74 100,000 0 100,000
2AY o alaz 1/7M 250,000 0 250,000
B2 o sl a2 19/74 1,500,000 0 1,500,000
=8 o sl a2 19/74 240,000 0 240,000
2oy ok sl a2 19/7M 2,110,000 0 2,110,000
EApIE-! ok sl a2 19/74 310,000 0 310,000
At ok alaz 19/74 270,000 0 270,000
BNk o el aa 19/74 400,000 0 400,000
S EN 5 o Uelaa 19/74 990,000 0 990,000
2 o sl a2 19/74 400,000 0 400,000
olchal *o sl a2 19/74 270,000 0 270,000
LR R o sl at= 19/7M 440,000 0 440,000
S o sl a2 19/74 200,000 0 200,000
olds ok alaz 19/74 700,000 0 700,000
SHEl S o alaz 19/74 4,480,000 0 4,480,000
e o alaz 1/7M 520,000 0 520,000
&0l o sl a2 19/74 450,000 0 450,000
2 o sl a2 19/74 1,200,000 0 1,200,000
S8l o WERSE=, 19/7M 300,000 0 300,000
24d ok sl a2 19/74 400,000 0 400,000
a4z Ho alaz 19/74 200,000 0 200,000
g o alaz 19/7M 250,000 0 250,000
= 500 552,434,706 0 552,434,706

L RAEE S (cHel: 2l

= = =04
EZII ;zi_lgg::jé ®X|§% ®X|§i-l —JF @3‘_4% E%_‘ @El-j;”
% /7)

=




/7Y
e Al 0 0 0 0
ct.2gZulol X|& (ctel: 2l)
_ R _ =on
™ /74
o/}
o/}
@) & Ml 0 0 0 0
2. 7122 & X& GAHIM (F2AHe) (2k9l: &)
_ - - Z=OH
g‘%ﬁ)gﬁlg? @=7ty OXE=R ?gﬁl)&f @82 ®@X|%E§_| @3t
/7N
/7N
= /74
2l 0 0 0 0

210mmx 297mm[ 84 AFX| 80g/m" E= SE Xl 80g/m']



i 2| [EX] M31EMA £3 2] <IiF 2023. 3.17.>

O M| Al

=
S

W Y5

|r

o

tof FA|7| i ct

T RS

ol
21

[=13=5 =2
oHEZ=

s

KFA-
o

% §l%e

]

<

KF

oF
1l

= ® |
ﬁu_. . T
N <k N
ol T o
N o | K &
__20 .. Mu.._lmg
Bl O | =
o ST
o _x_._.__ ofl
o ol
= ujo
™ _A_l

R o

oF | UIr

T | " e
ik 7
H |oF Ik
o K-K0

3.

__A_._._._

— S <k
s <
R k-
IIF
Kf- 0

3
o S
IH g
K <r
K-
o
oe3F
M
K
o &
=< < E..om__m
3T o | B<
KKK =
| tlo
T
= _ K
r kK
Kk ol | IH oll
ol

SOl AX|5H= H|E

FEETIESN

—
—

3. 3l EXILTIHOM S=2AH0l U

0.00

320,643,739

K

U

o o|AA AL At

74 5

5.

H| 1

=
10

ol
l

ol

I
i

ol

oll

=
10

i
Tl

ol

x| 80g/m']

— =
ts’él

C

210mm X 297mm[ 24 AX| 80g/m* &



W U5M H So{MH Al AE [EX] H31EM
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) g OELpIL! ©Hln
21X e 50,000,000
(2) &l AlFAE EAX
GL= S OETIPILY T lln!
(AFEAHY) S o

(F)FA S0 ZoH M *% =l 34,188,000
(Z=)0tEXC=2X ** 32 5,635,800
595t RAXRZLIZ(SIAH) *% 83 14,766,200
YGE st *% = 130,000,000
CIAI0IE E(the K holde'm) *x = 4,070,300
HdEEEZEAECS(SUHES *k 83 4,201,500
ZEEY *% = 24,512,700
ZEIS EEE ** 3 21,906,900
ZEIZEEEY =UE i = 12,766,400
L2 *% = 4,242,000
H7el 28 20|18 AKCR *k 3 67,562,850
moleg *k = 25,704,500
2UR HIQIAEICIS 1M =2d *k == 4,040,000
DXNEH EEE *k 3 142,498,170
BEHUAKEEIH 22HCHolA *k B 6,565,000
= EEH *k = 72,740,200
=F2 *% = 555,500
=2g i 83 9,059,700
HIZ2X&HLI *k = 373,700
AH AELC2 *% = 33,229,000
ALHOITH *% 3 216,096,000
A1 D (Sit & Go) i = 10,524,200
M| =413 At *% = 10,700,000
ot2= ** 3 44,349,100
orolelA =98 *k 32 8,463,800




oy - sz 5,965,060
ool A2t - = 28,300,200
oHEd *x 3 4,665,190
2l L+3! (ONE NIGHT) *x s3 686,800
B 0] A - sz 3,040,100
HOICIH0l(JDK) EE & - sz 808.000
ZAIBIAL HER M E - sz 50,000,000
ZABIAHLIA x sz 1,114,300
Z=AB A ZZHO| - sz 9,441,600
A5 A ERILIEI - sz 51,136,300
EELEEEREEE n - 184,438,878
JG2E 212X - sz 14,927,800
014 B 2 S3HH - sz 1,828,100
HAIASE ox sz 11,867,500
HHE 29 - sz 156,198,642
EE L - s3 22,341,200
224 EHE(FushELE) *x z3 43,430,000
Za/0l(PLAY) *x s2 38,026,500
szay - s3 12,776.500
CNERREES - sz 59,559,700
RSN E - sz 5,050,000
stol 22 Z=ors - s3 478,357,200
CNERRES - sz 6,918,500
S EREESIEES - sz 10,807,000
e et - sz 10,100,000
f= sey - z3 60,398,582
29 20/% - sz 3,040,100
E= - sz 6,686,200
SHOIKIE SOIHE - s3 1,665,000
SASHE >k sz 4,444,000
(=) 57 A 0l T OH | - sz 34,188,000
(F)otE et - sz 5,635,800
505 S AXSLID (S QI H H) - sz 14,766,200
VG2 4st el - sz 130,000,000
Ci311 012 = (the K holde'm) *x s3 4,070,300
HHCEHAECS(SHE) *x z2 4,201,500
zosy - sz 24,512,700
6= 29l - sz 21,906,900




REIZEE =0F *x = 12,766,400
Or=ll *x =E 4,242,000
oRel 88 2012 AS0IR *x &3 67,562,850
Mol *x =E 25,704,500
DUD HOAES oHE2H *x =E 4,040,000
SNEH EHE *x &3 142,498,170
BCHYREEIH 22ICHoIA *x =E 6,565,000
sc 2gH *x =E 72,740,200
s=2 *x &3 555,500
s=24 o &3 9,059,700
BI2=2TL *x =E 373,700
A ASCIR *x &3 33,229,000
ALHOITH *x = 216,096,000
AIOHT(Sit & Go) - &3 10,524,200
WOITI] 3415 At *x &3 10,700,000
o= *x =E 44,349,100
orol2lA EHH *x =E 8,463,800
oy *x =E 5,965,060
ololAztex] *x &3 28,300,200
QUEY *x =E 4,665,190
@ LI2! (ONE NIGHT) *x &3 686,800
MZZY 0 A *x =E 3,040,100
HIOICIHI 0] (JOK) & 2 & - &3 808,000
FABIA HIRME - =E 50,000,000
FAIBIA BLIA *x =E 1,114,300
FAIBIAL HAO| *x =E 9,441,600
FAIBIA ERILIEN *x =E 51,136,300
o Ans gy ~e08 " sz 184.438.878
J2E 212X *x =E 14,927,800
Hol4 B SSIHH *x =E 1,828,100
SAIASE *x &3 11,867,500
HUE 8¢ *x = 156,198,642
oT=sgy *x =E 22,341,200
Z24EHB(FushEE®) o &3 43,430,000
Z201(PLAY) xx &3 38,026,500
sizEd *x =E 12,776,500
sto12 E=8 *x &3 59,559,700
stol =2 1AL *x =E 5,050,000
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